

## Ex # 5.2

Q No. 1:-  $\int_0^6 f(x) dx$  ;  $f(x) = \begin{cases} x^2 & ; x < 2 \\ 3x-2 & ; x \geq 2 \end{cases}$

$$\begin{aligned} &= \int_0^2 f(x) dx + \int_2^6 f(x) dx \\ &= \int_0^2 x^2 dx + \int_2^6 (3x-2) dx = \frac{x^3}{3} \Big|_0^2 + \left( \frac{3x^2}{2} - 2x \right) \Big|_2^6 \\ &= \frac{1}{3} (8-0) + (54-12) - (6-4) \\ &= \frac{8}{3} + 42 - 2 = \frac{8}{3} + 40 = \frac{128}{3} \text{ Area} \end{aligned}$$

Q No. 2:-  $\int_1^5 |x-2| dx$

$$\begin{aligned} &= \int_1^2 |x-2| dx + \int_2^5 |x-2| dx \\ &= \int_1^2 (2-x) dx + \int_2^5 (x-2) dx = \left( 2x - \frac{x^2}{2} \right) \Big|_1^2 + \left( \frac{x^2}{2} - 2x \right) \Big|_2^5 \\ &= (4-2) - \left( -2 - \frac{1}{2} \right) + \left( \frac{25}{2} - 10 \right) - (2-4) \\ &= 2 + \frac{5}{2} + \frac{5}{2} + 2 = \frac{18}{2} = 9 \text{ Area} \end{aligned}$$

Q No. 3:-  $\int_0^{3\pi/4} |\cos x| dx$

Available at <http://www.MathCity.org>

$$\begin{aligned} &= \int_0^{\pi/2} \cos x dx + \int_{\pi/2}^{3\pi/4} (-\cos x) dx \\ &= \sin x \Big|_0^{\pi/2} - \sin x \Big|_{\pi/2}^{3\pi/4} = (\sin \frac{\pi}{2} - \sin 0) - (\sin \frac{3\pi}{4} - \sin \frac{\pi}{2}) \\ &= (1-0) - \left( \frac{1}{\sqrt{2}} - 1 \right) = 1 - \frac{1}{\sqrt{2}} + 1 = 2 - \frac{1}{\sqrt{2}} \text{ Area} \end{aligned}$$

Q No. 4:-  $\int_0^\pi \cos^{2n+1} x dx$

$$\begin{aligned} \text{Let } I &= \int_0^\pi \cos^{2n+1} x dx = \int_0^\pi \cos^{2n} (\pi-x) dx \\ &= \int_0^\pi -\cos^{2n} x dx = -\int_0^\pi \cos^{2n} x dx \end{aligned}$$

$$I = -I \Rightarrow 2I = 0 \quad I = 0$$

$$\text{So, } \int_0^\pi \cos^{2n+1} x dx = 0$$

Q No. 5:-  $\int_0^{\pi/4} \frac{\sec^2 \theta dx}{\tan x - \tan \theta}$  ,  $\theta > \pi/4$

$$= \sec^2 \theta \int_0^{\pi/4} \frac{dx}{\tan x - \tan \theta} ; \text{ Put } z = \tan x, dx = \frac{dz}{1+z^2} \text{ and } \tan \theta = a$$

$$\text{Now, } \int \frac{dx}{\tan x - \tan \theta} = \int \frac{dz}{z-a} \cdot \frac{1+z^2}{z^2+1} = \int \frac{dz}{(z-a)(z^2+1)}$$

$$= \int \frac{dz}{(z-a)(z^2+1)} = \frac{1}{(z-a)(z^2+1)} = \frac{A}{z-a} + \frac{Bz+C}{z^2+1}$$

$$1 = A(z^2+1) + Bz+C(z-a)$$

$$\text{Put } z=a$$

$$1 = A(a^2+1) \Rightarrow A = \frac{1}{a^2+1}$$

$$\Rightarrow 1 = Az^2 + A + Bz^2 - Bz + Cz - Ca$$

$$A+B=0 \Rightarrow B = -\frac{1}{a^2+1}$$

$$A - Ca = 1 \Rightarrow -A + 1 = -Ca \Rightarrow A - 1 = Ca$$

$$\frac{1-a^2-1}{a^2+1} = Ca \Rightarrow C = \frac{-a}{a^2+1}$$

$$\therefore \frac{1}{(z-a)(z^2+1)} = \frac{1}{(z-a)(a^2+1)} + \frac{-\frac{1}{1+a^2}z - \frac{a}{1+a^2}}{z^2+1}$$

$$= \int \left( \frac{1}{(1+a^2)(z-a)} - \frac{z+a}{(z^2+1)(1+a^2)} \right) dz$$

$$= \frac{1}{1+a^2} \int \frac{dz}{z-a} - \int \frac{z+a}{z^2+1} dz$$

$$= \frac{1}{1+a^2} \left\{ \ln|z-a| - \frac{1}{2} \int \frac{2z}{z^2+1} dz - a \int \frac{1}{z^2+1} dz \right\}$$

$$= \frac{1}{1+a^2} \left\{ \ln|z-a| - \frac{1}{2} \ln|z^2+1| - a \tan^{-1} z \right\}$$

$$= \frac{1}{1+\tan^2 \theta} \left\{ \ln|\tan x - \tan \theta| - \frac{1}{2} \ln|\sec^2 x| - a \tan^{-1}(\tan x) \right\}$$

$$= \frac{\sec^2 \theta}{\sec^2 \theta} \left\{ \ln|\tan x - \tan \theta| \Big|_0^{\pi/4} - \ln|\sec x| \Big|_0^{\pi/4} - x \tan \theta \Big|_0^{\pi/4} \right\}$$

$$= \ln|1 - \tan \theta| - \ln|0 - \tan \theta| - (\ln \sec \frac{\pi}{4} - \ln \sec \theta) - (\frac{\pi}{4} \tan \theta - 0)$$

$$= \ln|\tan \theta - 1| - \ln|\tan \theta| - \ln \sqrt{2} - \frac{\pi}{4} \tan \theta$$

$$= \ln \left| \frac{\tan \theta - 1}{\tan \theta} \right| - \ln 2^{1/2} - \frac{\pi}{4} \tan \theta$$

$$= \ln \left| \frac{\sin \theta / \cos \theta - \sin \pi/4 / \cos \pi/4}{\sin \theta / \cos \theta} \right| - \ln 2^{1/2} - \frac{\pi}{4} \tan \theta$$

$$= \ln \left| \frac{\sin \theta \cos \pi/4 - \cos \theta \sin \pi/4}{\sin \theta \cdot \cos \pi/4} \right| - \ln 2^{1/2} - \frac{\pi}{4} \tan \theta$$

$$= \ln \left| \frac{\sin(\theta - \pi/4)}{\sin \theta} \right| - \ln \cos \frac{\pi}{4} - \ln 2^{1/2} - \frac{\pi}{4} \tan \theta$$

$$= \ln \left| \frac{\sin(\theta - \pi/4)}{\sin \theta} \right| + \ln 2^{1/2} - \ln 2^{1/2} - \frac{\pi}{4} \tan \theta$$

$$= \ln \left| \frac{\sin(\theta - \pi/4)}{\sin \theta} \right| - \frac{\pi}{4} \tan \theta \text{ Ans}$$

Q No. 6:-  $\int_0^{\pi/2} \tan u \cdot \ln(\sin u) du$

$$= \int_0^{\pi/2} \frac{\sin u}{\cos u} \ln(\sin u) du = \int_0^{\pi/2} \frac{\ln(\sqrt{1-\cos^2 u}) (\sin u) du}{\cos u}$$

$$= \frac{1}{2} \int_0^{\pi/2} \ln \frac{(1-\cos^2 u)}{\cos^2 u} \sin u du = \frac{1}{2} \int_0^{\pi/2} \ln(1-\cos^2 u) \cdot \frac{\sin u}{\cos u} du$$

Put  $z = \cos u$ ,  $-dz = \sin u du$

When  $u \rightarrow 0$ ,  $z \rightarrow 1$ ; when  $u \rightarrow \frac{\pi}{2}$ ,  $z \rightarrow 0$ .

$$= \frac{1}{2} \int_1^0 \frac{\ln(1-z^2)}{z} (-dz) = \frac{1}{2} \int_0^1 \frac{\ln(1-z^2)}{z} dz$$

We know that;

$$\ln(1-z^2) = \left( -z^2 - \frac{z^4}{2} - \frac{z^6}{3} - \frac{z^8}{4} - \dots \right)$$

$$\text{So } = \frac{1}{2} \int_0^1 \frac{1}{z} \left( -z^2 - \frac{z^4}{2} - \frac{z^6}{3} - \frac{z^8}{4} - \dots \right) dz$$

$$= -\frac{1}{2} \int_0^1 \left( z + \frac{z^3}{2} + \frac{z^5}{3} + \frac{z^7}{4} - \dots \right) dz$$

$$= -\frac{1}{2} \left[ \frac{z^2}{2} + \frac{z^4}{8} + \frac{z^6}{18} + \frac{z^8}{32} - \dots \right]_0^1$$

$$= -\frac{1}{4} \left[ 1 + \frac{1}{4} + \frac{1}{9} + \frac{1}{16} - \dots - 0 \right] = -\frac{1}{4} \left( \frac{\pi^2}{6} \right)$$

$$= -\frac{\pi^2}{24} \text{ Ans}$$

The  $\gamma$ th subinterval  $[x_{\gamma-1}, x_{\gamma}]$  and its length  $x_{\gamma} - x_{\gamma-1}$  will both be denoted by  $\Delta x_{\gamma}$ .

The norm of  $P$  is such:-

$$\|P\| = \max_{1 \leq \gamma \leq n} \Delta x_{\gamma}$$

Let  $c_{\gamma}$  be any point of  $[x_{\gamma-1}, x_{\gamma}]$ ;  $\gamma = 1, 2, 3, \dots, n$ .

The expression,

$$(x_1 - x_0) f(c_1) + (x_2 - x_1) f(c_2) + \dots + (x_{\gamma} - x_{\gamma-1}) f(c_{\gamma}) + \dots$$

$$+ (x_n - x_{n-1}) f(c_n)$$

$$= \sum_{\gamma=1}^n (x_{\gamma} - x_{\gamma-1}) f(c_{\gamma})$$

$$= \sum_{\gamma=1}^n \Delta x_{\gamma} f(c_{\gamma})$$

is called Riemann sum. This sum denoted by  $S(P, \delta)$ .

$$\int_a^b f(x) dx \quad \text{or} \quad \int_a^b f$$

In this case,  $f$  is said to be integrable over  $[a, b]$ .

The numbers  $a$  and  $b$  are called lower and upper limits of integration.

Q No. 7:  $\int_0^{2\pi} \frac{dx}{5+3\cos x}$

$$\int_0^{2\pi} \frac{dx}{5+3\cos x} = 2 \int_0^{\pi} \frac{dx}{5+3\cos x}$$

Put  $z = \tan \frac{x}{2}$ ,  $dx = \frac{2dz}{1+z^2}$   
 $\cos x = \frac{1-z^2}{1+z^2}$

$$= 2 \int_0^{\pi} \frac{2dz/1+z^2}{5+3\left(\frac{1-z^2}{1+z^2}\right)} = 2 \int_0^{\pi} \frac{2dz}{5+5z^2+3-3z^2}$$

$$= 2 \int_0^{\pi} \frac{2dz}{2z^2+8} = \frac{2 \cdot 2}{2} \int_0^{\pi} \frac{dz}{z^2+2^2} = 2 \cdot \frac{1}{2} \tan^{-1} \frac{z}{2}$$

$$= 2 \cdot \frac{1}{2} \tan^{-1} \left( \frac{\tan x/2}{2} \right) \Big|_0^{\pi} = \tan^{-1} \left( \frac{\tan \pi/2}{2} \right) - \tan^{-1} \left( \frac{\tan 0}{2} \right)$$

$$= \tan^{-1}(\infty) - 0 = \frac{\pi}{2} \text{ Ans}$$

Q No. 8:  $\int_0^1 \tan^{-1} \left( \frac{2x-1}{1+x-x^2} \right) dx$

$$= \int_0^1 \tan^{-1} \frac{2(1-x)-1}{1+(1-x)^2} dx = \int_0^1 \tan^{-1} \frac{2-2x-1}{1+1-x-1+2x-x^2} dx$$

$$= \int_0^1 \tan^{-1} \frac{-2x+1}{1+x-x^2} dx = - \int_0^1 \tan^{-1} \frac{2x-1}{1+x-x^2} dx$$

$$2 \int_0^1 \tan^{-1} \frac{2x-1}{1+x-x^2} dx = 0 \Rightarrow \int_0^1 \tan^{-1} \left( \frac{2x-1}{1+x-x^2} \right) dx = 0 \text{ Ans}$$

Q No. 9:  $\int_{-\pi/4}^{\pi/4} \frac{2x^3-x}{(x^2+1)(x-1)(x+1)} dx$

$$= \int_{-\pi/4}^0 \frac{2x^3-x}{(x^2+1)(x-1)(x+1)} dx + \int_0^{\pi/4} \frac{2x^3-x}{(x^2+1)(x-1)(x+1)} dx \quad (i)$$

$\Rightarrow$  Put in Ist integral  $x = -z$ ,  $dx = -dz$  when  $x \rightarrow 0$ ,  $z \rightarrow 0$   
 $x \rightarrow -\pi/4$ ,  $z \rightarrow \pi/4$

$$= \int_0^{\pi/4} \frac{-2z^3+z}{(z^2+1)(-z-1)(-z+1)} - dz = - \int_0^{\pi/4} \frac{-(2z^3-z)}{(z^2+1) \cdot -(z+1) \cdot -(z-1)} dz$$

By (i):

$$\Rightarrow - \int_0^{\pi/4} \frac{2x^3-x}{(x^2+1)(x+1)(x-1)} dx + \int_0^{\pi/4} \frac{2x^3-x}{(x^2+1)(x+1)(x-1)} dx$$

$$= 0 \text{ Ans}$$

Q No. 10:  $\int_0^{\pi} \frac{x \sin x}{1 + \cos^2 x} dx$

$$= \int_0^{\pi} \frac{(\pi - u) \sin(\pi - u)}{1 + \cos^2(\pi - u)} du = \int_0^{\pi} \frac{(\pi - u) \sin u}{1 + \cos^2 u} du$$

$$= \int_0^{\pi} \frac{\pi \sin u}{1 + \cos^2 u} du - \int_0^{\pi} \frac{u \sin u}{1 + \cos^2 u} du$$

$$2 \int_0^{\pi} \frac{u \sin u}{1 + \cos^2 u} du = \int_0^{\pi} \frac{\pi \sin u}{1 + \cos^2 u} du = \pi \int_0^{\pi} \frac{\sin u}{1 + \cos^2 u} du$$

Put  $\cos u = t$ ,  $\sin u du = -dt$

$$= \pi \int_1^{-1} \frac{-dt}{1+t^2} = -\pi \int_{-1}^1 \frac{dt}{1+t^2}$$

when  $u \rightarrow 0, t \rightarrow 1$   
 $u \rightarrow \pi, t \rightarrow -1$

$$= \pi \left\{ \tan^{-1}(t) \right\}_{-1}^1 = \pi \left\{ \tan^{-1}(1) - \tan^{-1}(-1) \right\}$$

$$= \pi \left\{ \frac{\pi}{4} + \frac{\pi}{4} \right\} = \pi \left( \frac{2\pi}{4} \right) = \frac{\pi^2}{2}$$

$$\int_0^{\pi} \frac{x \sin x}{1 + \cos^2 x} dx = \frac{\pi^2}{4} \text{ Ans}$$

Q No. 11:  $\int_2^4 \frac{\sqrt{\ln(9-u)}}{\sqrt{\ln(9-u)} + \sqrt{\ln(3+u)}} dx$

Put  $9-u = 3+y \Rightarrow dx = -dy$

when  $u \rightarrow 2, y \rightarrow 4$

when  $u \rightarrow 4, y \rightarrow 2$

$$I = \int_4^2 \frac{\sqrt{\ln(3+y)}}{\sqrt{\ln(3+y)} + \sqrt{\ln(9-y)}} (-dy)$$

$$= \int_2^4 \frac{\sqrt{\ln(3+u)}}{\sqrt{\ln(3+u)} + \sqrt{\ln(9-u)}} dx = I$$

$$2I = \int_2^4 \frac{\sqrt{\ln(9-u)}}{\sqrt{\ln(9-u)} + \sqrt{\ln(3+u)}} dx + \int_2^4 \frac{\sqrt{\ln(3+u)}}{\sqrt{\ln(9-u)} + \sqrt{\ln(3+u)}} dx$$

$$= \int_2^4 \frac{\sqrt{\ln(9-u)} + \sqrt{\ln(3+u)}}{\sqrt{\ln(9-u)} + \sqrt{\ln(3+u)}} dx \Rightarrow I = \frac{1}{2} \cdot (x) \Big|_2^4 \Rightarrow \frac{1}{2} \cdot 2$$

$$I = 1 \text{ Ans}$$

$$\begin{aligned}
 \text{Q No. 12: } & - \int_0^{\pi/2} \ln(\tan x) dx = 0 \\
 & = \int_0^{\pi/2} \ln\left(\frac{\sin x}{\cos x}\right) dx = \int_0^{\pi/2} (\ln \sin x - \ln \cos x) dx \\
 & = \int_0^{\pi/2} \ln \sin x dx - \int_0^{\pi/2} \ln \cos x dx \\
 & = \int_0^{\pi/2} \ln \sin x dx - \int_0^{\pi/2} \ln(\cos(\frac{\pi}{2} - x)) dx \\
 & = \int_0^{\pi/2} \ln \sin x dx - \int_0^{\pi/2} \ln \sin x dx \\
 & = 0 \text{ Ans}
 \end{aligned}$$

$$\begin{aligned}
 \text{Q No. 13: } & \int_0^{\pi/2} \sin 2x \ln(\tan x) dx = 0 \\
 & = \int_0^{\pi/2} \sin 2(\frac{\pi}{2} - x) \ln(\tan(\frac{\pi}{2} - x)) dx \\
 & = \int_0^{\pi/2} \sin 2x \cdot \ln \cot x dx = \int_0^{\pi/2} \sin 2x \ln\left(\frac{1}{\tan x}\right) dx \\
 & = \int_0^{\pi/2} \sin 2x \cdot \ln(\tan x)^{-1} dx = - \int_0^{\pi/2} \sin 2x \ln(\tan x) dx \\
 & 2 \int_0^{\pi/2} \sin 2x \ln(\tan x) dx = 0
 \end{aligned}$$

$$\int_0^{\pi/2} \sin 2x \ln(\tan x) dx = 0 \text{ Ans}$$

$$\begin{aligned}
 \text{Q No. 14: } & - \int_0^{\pi} \frac{x \tan x}{\sec x + \cos x} dx \\
 & = \int_0^{\pi} \frac{x \cdot \sin x / \cos x}{1 + \cos^2 x / \cos x} dx = \int_0^{\pi} \frac{(\pi - u) \sin(\pi - u)}{1 + \cos^2(\pi - u)} du \\
 & = \int_0^{\pi} \frac{(\pi - u) \sin u}{1 + \cos^2 u} du = \int_0^{\pi} \frac{\pi \sin u}{1 + \cos^2 u} du - \int_0^{\pi} \frac{u \sin u}{1 + \cos^2 u} du \\
 \text{By Q No. 10: } & - \int_0^{\pi} \frac{x \sin x}{1 + \cos^2 x} dx = \frac{\pi^2}{4} \text{ Ans}
 \end{aligned}$$

$$Q \text{ No. 15: } \int_0^{\pi/2} \frac{\sqrt{\sin x}}{\sqrt{\sin x} + \sqrt{\cos x}} dx = \pi/4$$

$$= \int_0^{\pi/2} \frac{\sqrt{\sin(\frac{\pi}{2}-x)}}{\sqrt{\sin(\frac{\pi}{2}-x)} + \sqrt{\cos(\frac{\pi}{2}-x)}} dx = \int_0^{\pi/2} \frac{\sqrt{\cos x}}{\sqrt{\cos x} + \sqrt{\sin x}} dx$$

$$\int_0^{\pi/2} \frac{\sqrt{\sin x}}{\sqrt{\sin x} + \sqrt{\cos x}} dx + \int_0^{\pi/2} \frac{\sqrt{\cos x}}{\sqrt{\sin x} + \sqrt{\cos x}} dx = 2I$$

$$\Rightarrow 2I = \int_0^{\pi/2} \frac{\sqrt{\sin x} + \sqrt{\cos x}}{\sqrt{\sin x} + \sqrt{\cos x}} dx = x \Big|_0^{\pi/2} = (\frac{\pi}{2} - 0)$$

$$2I = \frac{\pi}{2} \Rightarrow I = \frac{\pi}{4} \text{ Ans}$$

$$Q \text{ No. 16: } \int_0^{\pi/2} \frac{\sin^2 x}{\sin x + \cos x} dx = \frac{1}{\sqrt{2}} \ln(\sqrt{2} + 1)$$

$$= \int_0^{\pi/2} \frac{\sin^2(\frac{\pi}{2}-x)}{\sin(\frac{\pi}{2}-x) + \cos(\frac{\pi}{2}-x)} dx = \int_0^{\pi/2} \frac{\cos^2 x}{\cos x + \sin x} dx$$

$$2I = \int_0^{\pi/2} \frac{\sin^2 x}{\sin x + \cos x} dx + \int_0^{\pi/2} \frac{\cos^2 x}{\sin x + \cos x} dx$$

$$= \int_0^{\pi/2} \frac{\sin^2 x + \cos^2 x}{\sin x + \cos x} dx = \int_0^{\pi/2} \frac{dx}{\sin x + \cos x}$$

$$\text{Put } z = \tan \frac{x}{2}, \quad dx = \frac{2dz}{1+z^2}$$

$$\text{When } x \rightarrow 0, \quad z \rightarrow 0$$

$$x \rightarrow \frac{\pi}{2}, \quad z \rightarrow 1$$

$$2I = \int_0^1 \frac{2dz / (1+z^2)}{z + 1 - z^2 / (1+z^2)} = 2 \int_0^1 \frac{dz}{2z + 1 - z^2} = -2 \int_0^1 \frac{dz}{z^2 - 2z - 1}$$

$$= -2 \int_0^1 \frac{dz}{z^2 - 2z + 1 - 1} = -2 \int_0^1 \frac{dz}{(z-1)^2 - (\sqrt{2})^2} = 2 \int_0^1 \frac{dz}{(\sqrt{2})^2 - (z-1)^2}$$

$$= 2 \cdot \frac{1}{2 \cdot \sqrt{2}} \ln \left| \frac{\sqrt{2} + (z-1)}{\sqrt{2} - (z-1)} \right| \Big|_0^1 = \frac{1}{\sqrt{2}} \ln \left\{ \ln 1 - \ln \left( \frac{\sqrt{2}-1}{\sqrt{2}+1} \right) \right\}$$

$$2I = \frac{1}{\sqrt{2}} \ln \left( \frac{\sqrt{2}-1}{\sqrt{2}+1} \right)^{-1} = \frac{1}{\sqrt{2}} \ln \left[ \left( \frac{\sqrt{2}+1}{\sqrt{2}-1} \right) \times \left( \frac{\sqrt{2}+1}{\sqrt{2}+1} \right) \right]$$

$$= \frac{1}{\sqrt{2}} \ln (\sqrt{2}+1)^2 = \frac{2}{\sqrt{2}} \ln (\sqrt{2}+1)$$



$$2I = \frac{2}{\sqrt{2}} \ln(\sqrt{2} + 1)$$

$$I = \frac{1}{\sqrt{2}} \ln(\sqrt{2} + 1) \text{ Ans}$$

$$\text{Q No. 17:- } \int_0^{\pi} \frac{x dx}{1 + \sin x} = \pi$$

$$\int_0^{\pi} \frac{x}{1 + \sin x} dx = \int_0^{\pi} \frac{(\pi - u)}{1 + \sin(\pi - u)} du = \int_0^{\pi} \frac{(\pi - u)}{1 + \sin u} du$$

$$2I = \int_0^{\pi} \frac{\pi}{1 + \sin u} du = \pi \int_0^{\pi} \left( \frac{1}{1 + \sin u} \cdot \frac{1 - \sin u}{1 - \sin u} \right) du$$

$$= \pi \int_0^{\pi} \frac{1 - \sin u}{\cos^2 u} du = \pi \int_0^{\pi} (\sec^2 u - \sec u \tan u) du$$

$$= \pi \left\{ \int_0^{\pi} \sec^2 u du - \int_0^{\pi} \sec u \tan u du \right\}$$

$$2I = \pi \left\{ \tan u \Big|_0^{\pi} - \sec u \Big|_0^{\pi} \right\} = \pi \left\{ (\tan \pi) - 0 \right\} - (\sec \pi - \sec 0)$$

$$= \pi \{ 0 - (-1) \} = \pi (2) = 2\pi$$

$$I = \pi \text{ Ans}$$

$$\text{Q No. 18:- } \int_0^{\pi/2} \left( \frac{\theta}{\sin \theta} \right)' d\theta = \pi \ln 2$$

$$\int_0^{\pi/2} \theta' \csc \theta d\theta = \theta' \int_0^{\pi/2} \csc \theta du - \int_0^{\pi/2} \left( \frac{d}{d\theta} \theta \cdot \int \csc \theta d\theta \right) d\theta$$

$$= -\theta' \cot \theta - \int_0^{\pi/2} (-\cot \theta) d\theta = -\theta' \cot \theta + 2 \left[ \int_0^{\pi/2} \theta \cot \theta d\theta \right]$$

$$= -\theta' \cot \theta + 2 \left[ \theta \ln \sin \theta - \int \ln \sin \theta d\theta \right]$$

$$= -\theta' \cot \theta + 2\theta \ln \sin \theta - 2 \int \ln \sin \theta d\theta$$

$$= -\theta' \cot \theta \Big|_0^{\pi/2} + 2\theta \ln \sin \theta \Big|_0^{\pi/2} - 2 \int_0^{\pi/2} \ln \sin \theta d\theta$$

$$= 0 + 0 - 2 \left( -\frac{\pi}{2} \ln 2 \right) = \pi \ln 2$$

$$= \pi \ln 2 \text{ Ans}$$

Q No. 19: -  $\int_0^{\pi/2} \ln(\tan \theta + \cot \theta) d\theta = \pi \ln 2$

$$\begin{aligned} \int_0^{\pi/2} \ln\left(\tan \theta + \frac{1}{\tan \theta}\right) d\theta &= \int_0^{\pi/2} \ln\left(\frac{1 + \tan^2 \theta}{\tan \theta}\right) d\theta \\ &= \int_0^{\pi/2} \ln\left(\frac{\sec^2 \theta}{\tan \theta}\right) d\theta = \int_0^{\pi/2} \ln\left(\frac{d\theta}{\sin \theta \cos \theta}\right) \\ &= -\int_0^{\pi/2} \ln(\sin \theta \cos \theta) d\theta = -\int_0^{\pi/2} [\ln \sin \theta d\theta + \ln \cos \theta d\theta] \\ &= -\int_0^{\pi/2} \ln \sin \theta d\theta - \int_0^{\pi/2} \ln \cos \theta d\theta \\ &= -\int_0^{\pi/2} \ln \sin \theta d\theta - \int_0^{\pi/2} \ln(\cos \theta (\frac{\pi}{2} - \theta)) d\theta \\ &= -\int_0^{\pi/2} \ln \sin \theta d\theta - \int_0^{\pi/2} \ln \sin \theta d\theta \\ &= -2 \int_0^{\pi/2} \ln \sin \theta d\theta = -\pi \left(-\frac{\pi}{2} \ln 2\right) \\ &= \pi \ln 2 \text{ Ans} \end{aligned}$$

Q No. 20: -  $\int_0^{\pi} \ln(\sin x) \cdot x dx = \frac{\pi^2}{2} \ln\left(\frac{1}{2}\right)$

$$\begin{aligned} \int_0^{\pi} (\pi - u) \cdot \ln(\sin(\pi - x)) du &= \int_0^{\pi} (\pi - u) \ln \sin u du \\ &= \pi \int_0^{\pi} \ln \sin u du - \int_0^{\pi} u \ln \sin u du \end{aligned}$$

$$\begin{aligned} 2 \int_0^{\pi} x \ln(\sin x) dx &= \pi \cdot 2 \int_0^{\pi/2} \ln \sin x dx \\ &= \pi \left( \frac{\pi}{2} \ln\left(\frac{1}{2}\right) \right) \\ &= \frac{\pi^2}{2} \ln\left(\frac{1}{2}\right) \text{ Ans} \end{aligned}$$

Q No. 21: -  $\int_0^1 \frac{\ln(1+x)}{1+x^2} dx$

Put  $x = \tan \theta$   
 $dx = \sec^2 \theta d\theta$

When  $x \rightarrow 0$  as  $\theta \rightarrow 0$   
 $x \rightarrow 1$  as  $\theta \rightarrow \frac{\pi}{4}$

$$\begin{aligned}
&= \int_0^{\pi/4} \frac{\ln(1+\tan\theta) \sec^2\theta}{1+\tan^2\theta} d\theta = \int_0^{\pi/4} \frac{\ln(1+\tan\theta) \sec^2\theta}{\sec^2\theta} d\theta \\
&= \int_0^{\pi/4} \ln(1+\tan(\frac{\pi}{4}-\theta)) d\theta \\
&= \int_0^{\pi/4} \ln\left(1 + \frac{\tan \pi/4 - \tan\theta}{1 + \tan \pi/4 \tan\theta}\right) d\theta \\
&= \int_0^{\pi/4} \ln\left(\frac{1 + \tan\theta + 1 - \tan\theta}{1 + \tan\theta}\right) d\theta \\
&= \int_0^{\pi/4} \ln\left(\frac{2}{1 + \tan\theta}\right) d\theta = \int_0^{\pi/4} \ln 2 - \ln(1 + \tan\theta) d\theta
\end{aligned}$$

$$\begin{aligned}
2 \int_0^{\pi/4} (1 + \tan\theta) d\theta &= \ln 2 \int_0^{\pi/4} 1 d\theta \\
&= \ln 2 \cdot \theta \Big|_0^{\pi/4} \\
&= \ln 2 \left(\frac{\pi}{4} - 0\right) \\
&= \ln 2 \left(\frac{\pi}{4}\right)
\end{aligned}$$

$$\int_0^{\pi/4} (1 + \tan\theta) d\theta = \ln 2 \cdot \frac{\pi}{8}$$

$$\int_0^1 \frac{\ln(1+x)}{1+x^2} dx = \ln 2 \cdot \frac{\pi}{8} \text{ Ans}$$

Q No. 22: -  $\int_0^{\pi/2} \sin x \ln(\sin x) dx = \ln\left(\frac{2}{e}\right)$

$$= \int_0^{\pi/2} \ln(\sqrt{1-\cos^2 x}) \sin x dx$$

$$= \int_0^{\pi/2} \frac{1}{2} \ln(1-\cos^2 x) \sin x dx$$

Put  $\cos x = t$ ,  $\sin x dx = -dt$

when  $x \rightarrow 0$  as  $t \rightarrow 1$ ; when  $x \rightarrow \frac{\pi}{2}$  as  $t \rightarrow 0$

$$= \frac{1}{2} \int_1^0 \ln(1-t^2) - dt$$

$$= \frac{1}{2} \int_0^1 \ln(1-t^2) dt$$

$$= \frac{1}{2} \int_0^1 \left[ -t^2 - \frac{t^4}{2} - \frac{t^6}{3} - \frac{t^8}{4} - \dots \right] dt$$

$$= -\frac{1}{2} \left[ \frac{t^3}{3} + \frac{t^5}{10} + \frac{t^7}{21} + \frac{t^9}{36} + \dots \right] \Big|_0^1$$

$$= -\frac{1}{2} \left( \frac{1}{3} + \frac{1}{10} + \frac{1}{21} + \frac{1}{36} + \dots - 0 \right)$$

$$= - \left( \frac{1}{2 \cdot 3} + \frac{1}{2 \cdot 10} + \frac{1}{2 \cdot 21} + \frac{1}{2 \cdot 36} + \dots \right)$$

$$= - \left( \frac{1}{2 \cdot 3} + \frac{1}{4 \cdot 5} + \frac{1}{6 \cdot 7} + \frac{1}{8 \cdot 9} + \dots \right)$$

$$= - \left( \frac{1}{2} - \frac{1}{3} + \frac{1}{4} - \frac{1}{5} + \frac{1}{6} - \frac{1}{7} + \frac{1}{8} - \frac{1}{9} + \dots \right)$$

$$= + \left( 1 - \frac{1}{2} + \frac{1}{3} - \frac{1}{4} + \frac{1}{5} - \frac{1}{6} + \frac{1}{7} - \dots - 1 \right)$$

$$= \ln[(1+1)] - [1] = \ln 2 - 1 = \ln 2 - \ln e$$

$$= \ln \left( \frac{2}{e} \right) \text{ Ans}$$

Q No. 23:-  $\int_0^{\pi/2} \frac{\cos x}{\sin x + \cos x} dx = \pi/4$

$$I = \int_0^{\pi/2} \frac{\cos u}{\sin u + \cos u} du \quad \text{--- (i)}$$

$$= \int_0^{\pi/2} \frac{\cos(\pi/2 - u)}{\sin(\pi/2 - u) + \cos(\pi/2 - u)} du = I = \int_0^{\pi/2} \frac{\sin u}{\cos u + \sin u} du \quad \text{--- (ii)}$$

Adding (i) and (ii)

$$2I = \int_0^{\pi/2} \frac{\sin u + \cos u}{\sin u + \cos u} du = \pi/2$$

$$2I = (\pi/2 - 0) = \frac{\pi}{2}$$

$$I = \frac{\pi}{4} \text{ Ans}$$

$$Q\ No. 24:- \int_0^{\pi} \frac{x \sin x}{1 + \sin x} dx = \frac{\pi^2}{2} - \pi$$

$$= \int_0^{\pi} \frac{(\pi - u) \sin(\pi - u)}{1 + \sin(\pi - u)} du = \int_0^{\pi} \frac{(\pi - u) \sin u}{1 + \sin u} du$$

$$2 \int_0^{\pi} \frac{x \sin x}{1 + \sin x} dx = \pi \int_0^{\pi} \frac{\sin x}{1 + \sin x} dx$$

$$= \pi \left[ \int_0^{\pi} \left( 1 - \frac{1}{1 + \sin x} \right) dx \right]$$

$$2 \int_0^{\pi} \frac{x \sin x}{1 + \sin x} dx = \pi \left[ (\pi - 0) - \int_0^{\pi} \frac{1}{1 + \sin x} dx \right]$$

$$= \pi \left[ \pi - \int_0^{\pi} \frac{1 - \sin x}{\cos^2 x} dx \right]$$

$$= \pi \left[ \pi - \left( \int_0^{\pi} \sec^2 x dx - \int_0^{\pi} \sec x \tan x dx \right) \right]$$

$$= \pi^2 - \pi \left( \tan x \Big|_0^{\pi} - \sec x \Big|_0^{\pi} \right)$$

$$2 \int_0^{\pi} \frac{x \sin x}{1 + \sin x} dx = \pi^2 - \pi (0 - (-1 - 1))$$

$$= \pi^2 - 2\pi$$

$$\int_0^{\pi} \frac{x \sin x}{1 + \sin x} dx = \frac{\pi^2}{2} - \pi \text{ Ans}$$

$$Q\ No. 25:- \int_0^{\pi/2} \frac{\sin x - \cos x}{1 + \sin x \cos x} dx = 0$$

$$I = \int_0^{\pi/2} \frac{\sin x - \cos x}{1 + \sin x \cos x} dx \quad (i) = \int_0^{\pi/2} \frac{\sin(\pi/2 - u) - \cos(\pi/2 - u)}{1 + \sin(\pi/2 - u) \cos(\pi/2 - u)} du$$

$$I = \int_0^{\pi/2} \frac{\cos u - \sin u}{1 + \cos u \sin u} du \quad (ii)$$

Adding (i) and (ii)

$$2I = \int_0^{\pi/2} \frac{\sin x - \cos x + \cos x - \sin x}{1 + \sin x \cos x} dx$$

$$2I = \int_0^{\pi/2} 0 dx = 0$$

$$I = 0 \text{ Ans}$$

$$Q \text{ No. 26:} - \int_0^{\pi/2} \frac{\sin^2 x}{1 + \sin x \cos x} dx = \frac{\pi}{3\sqrt{3}}$$

$$\int_0^{\pi/2} \frac{\sin^2 x}{1 + \sin x \cos x} dx \quad \text{--- (i)} = \int_0^{\pi/2} \frac{\sin^2(\pi/2 - u)}{1 + \sin(\pi/2 - u) \cos(\pi/2 - u)} du$$

$$= \int_0^{\pi/2} \frac{\cos^2 u}{1 + \sin u \cos u} du \quad \text{--- (ii)}$$

Adding (i) and (ii)

$$2I = \int_0^{\pi/2} \left( \frac{\sin^2 x + \cos^2 x}{1 + \sin x \cos x} \right) dx = \int_0^{\pi/2} \frac{1}{1 + \sin x \cos x} dx$$

$$= \int_0^{\pi/2} \frac{1}{1 + \frac{1}{2} \cdot 2 \sin x \cos x} dx = \int_0^{\pi/2} \frac{1}{1 + \frac{1}{2} \sin 2x} dx$$

$$= \int_0^{\pi/2} \frac{du}{1 + \frac{1}{2} \frac{2 \tan u}{1 + \tan^2 u}}$$

$$\therefore \sin 2x = \frac{2 \sin x \cos x}{\cos^2 x} = \frac{2 \tan x}{1 + \tan^2 x}$$

$$= \int_0^{\pi/2} \frac{\sec^2 u}{\tan^2 u + \tan u + 1} du$$

Put  $\tan u = t$

$$du \sec^2 u = dt$$

$$2I = \int \frac{dt}{t^2 + t + 1} = \int \frac{dt}{t^2 + t + (\frac{1}{2})^2 - (\frac{1}{2})^2 + 1} = \int \frac{dt}{(t + \frac{1}{2})^2 + (\frac{\sqrt{3}}{2})^2}$$

$$= \left[ \frac{2}{\sqrt{3}} \tan^{-1} \left( \frac{2t+1}{\sqrt{3}} \right) \right]_0^{\pi/2} = \frac{2}{\sqrt{3}} \tan^{-1} \left( \frac{2 \tan u + 1}{\sqrt{3}} \right) \Big|_0^{\pi/2}$$

$$= \frac{2}{\sqrt{3}} \left\{ \tan^{-1}(\infty) - \tan^{-1} \left( \frac{1}{\sqrt{3}} \right) \right\} = \frac{2}{\sqrt{3}} \left( \frac{\pi}{2} - \frac{\pi}{6} \right)$$

$$2I = \frac{2}{\sqrt{3}} \left( \frac{3\pi - \pi}{6} \right) = \frac{4\pi}{6\sqrt{3}} = \frac{2\pi}{3\sqrt{3}} \Rightarrow I = \frac{\pi}{3\sqrt{3}}$$

Q No. 27: Show That:  $\int_a^b f(x) dx \leq \int_a^b g(x) dx$

Sol:-

Since  $f(x) \leq g(x) \quad \forall x \in [a, b]$

$f(c_r) \leq g(c_r) \quad ; \quad c_r \in [x_{r-1}, x_r]$

$$f(c_r) \Delta x_r \leq g(c_r) \Delta x_r$$

$$\sum_{r=1}^n f(c_r) \Delta x_r \leq \sum_{r=1}^n g(c_r) \Delta x_r$$

$$\lim_{n \rightarrow \infty} S(P, f) \leq \lim_{n \rightarrow \infty} S(P, g)$$

$$\int_a^b f(x) dx \leq \int_a^b g(x) dx$$

Hence Proved

Available at <http://www.MathCity.org>